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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate
3. The numbers indicated against the Question ID and Option ID are the numbers to be noted and used for raising objections

Q1 Which of the following CANNOT travel in vacuum?
Ans 1. UV rays

/< 2. Heat

+ 3. Sound

/< 4 Light

Question ID : 6789132464
Option 1 ID : 6789139856
Option 2 ID : 6789139855
Option 3 ID : 6789139854
Option 4 ID : 6789139853
Status : Answered
Chosen Option : 3

Q.2 The distance between two stations is 340 km. Two trains start simultaneously from these stations on parallel tracks to
cross each other. The speed of one of them is greater than the other by 5 kmph. If the distance between the two trains
after 2 hours of their start is 30 km, then find the speed of each train.

Ans 1. 85 kmph, 80 kmph
/< 2. 75 kmph, 60 kmph
o 3. 75 kmph. 80 kmph
/< 4. 70 kmph, 75 kmph

Question ID : 6789132413
Option 11D : 6789139651
Option 2 ID : 6789139652
Option 31D : 6789139649
Option 4 ID : 6789139650
Status : Answered
Chosen Option: 3

Q.3




On which dates India has organized the Cultural Festival in Egypt to mark the 156th birth anniversary of Rabindranath
Tagore?

Ane X 1. May 6 -10%®, 2017
X 2 June 6™ -10%, 2017
v 3 May 8t -12% 2017

X 4 Tune 8t -12tR 2017

Question ID : 6789132484
Option 11D : 6789139936
Option 2 ID : 6789139933
Option 31D : 6789139935
Option 4 ID : 6789139934
Status : Not Answered
Chosen Option : -

Q4 ftr x o9F o + TV, + IF T + W, — IF A x TL AT+ IF AN — =F, GEE 6 x 5 — 4 +
80 + 2 a9 W 37

Ans X 1. 101
X 2100
'3 4,25
X 4108

Question ID : 6789132437
Option 11D : 6789139747
Option 2 ID : 6789139745
Option 31D : 6789139746
Option 4 ID : 6789139748
Status : Answered
Chosen Option : 3

W aofae =foq IS Foad AT TTET e T ST FE?
Ans  of 1. 44 91F
X2 88 9
X322 9F
K4 119F

Question ID : 6789132417
Option 11D : 6789139665
Option 2 ID : 6789139668
Option 31D : 6789139666
Option 4 ID : 6789139667
Status : Answered
Chosen Option : 2

Q6 3% 5ind + cos® — 2 7, ORE sin2%Q + cos??18Q —aF W 94T FT
Ans 1 1
2.0
3. %




4. 20186

Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.

Question ID : 6789132423

Option 11D :
Option 21D :
Option 31D :

6789139690
6789139691
6789139689

Option 4 ID : 6789139692
Status : Answered
Chosen Option : 3
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Question ID : 6789132493
Option 11D : 6789139972
Option 2 ID : 6789139969
Option 31D : 6789139971
Option 4 ID : 6789139970
Status : Answered
Chosen Option: 3

® aftew qw it o Ny SGRE| 996 (W T S orEle @i

Ans x
1. SIS
X 2 BEe
v o e
X 4 B
Question ID : 6789132494
Option 11D : 6789139976
Option 2 ID : 6789139975
Option 31D : 6789139973
Option 4 ID : 6789139974
Status : Answered
Chosen Option: 2
Q.9
I 8 A W @ I8 3 PeIM IAGS @
Ans o 1. 180°
X 2 45°
X 3 90°
X 4 0°

Question ID : 6789132462
Option 1 ID : 6789139848




Option 2 ID : 6789139846
Option 31D : 6789139847
Option 4 ID : 6789139845
Status : Answered
Chosen Option : 1
Q.1
o CGAR FEERA e 6 = e
Ans x 1.5
v2 6
X3 8
Xar
Question ID : 6789132468
Option 11D : 6789139869
Option 2 ID : 6789139870
Option 31D : 6789139872
Option 4 ID : 6789139871
Status : Answered
Chosen Option : 1
Q.1 3
1 1= a7 95f =
11
Ans g
XK1=
121
196
e
121
1s
X 2.5
111
225
x4
112
Question ID : 6789132404
Option 11D : 6789139613
Option 2 ID : 6789139616
Option 31D : 6789139614
Option 4 ID : 6789139615
Status : Answered
Chosen Option : 2
Qé‘ 15kg BEH IF6 T§ 6 ms~! THEE! sfedlT| TFHT T A= FAT oG Fo?
Ans of 1270 J
K 2270 ms
X 3.187.5 J
K 4.187.5 ms
Question ID : 6789132461
Option 11D : 6789139843
Option 2 ID : 6789139844
Option 3 ID : 6789139841
Option 4 ID : 6789139842
Status : Answered




l Chosen Option : 1
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Question ID : 6789132432
Option 11D : 6789139728
Option 2 ID : 6789139727
Option 31D : 6789139725
Option 4 ID : 6789139726
Status : Answered
Chosen Option: 3

Q1 @@ 5= BT mes Fofma, FoE @@ @0 S TEE GIET 58 66 He aiHed sy Sta
AP FAES, OEE STTAY SAE T 1982 SE Afefe Far T

Ans XK1 AT (T R BE (eI
Vv 2 T SEATE B BE AN

K3 APEE WA BT BF CHTA A
K4 T (TS B BF bt

Question ID : 6789132481
Option 11D : 6789139923
Option 2 1D : 6789139921
Option 31D : 6789139924
Option 4 ID : 6789139922
Status : Answered
Chosen Option : 2

Q.1 125 N a7 39T 9 29 =97 S FEAe aEE G BT 5 om 99T 96| 9@ wE g w6
5
I

Ans X' 1. 625 Pa
v 2 625 J
X3 625 N
X 4625 W




Question ID :
Option 11D :
Option2 1D :
Option 31D :

6789132460
6789139838
6789139839
6789139837

Option 4 ID : 6789139840
Status : Answered
Chosen Option: 2

Q1 Fre T T SR TR SRR 67 S S S S S
Ans X 1. SI&E (TRel

X 2 g JoE

v i EEESIE S

X4 Tug IEE

Question ID : 6789132491
Option 11D : 6789139964
Option 21D : 6789139961
Option 31D : 6789139963
Option 4 ID : 6789139962
Status : Not Answered
Chosen Option : --

0%1 A Gy + 5y + 11 = 0 95 20x - ky - 9 = 0 NAFAEE (FF TIE A1 T GEE k 97 AW Be?

Ans X118
V2 — 125
2 3= 18
X 4.12.5
Question ID : 6789132422
Option 11D : 6789139686
Option 2 ID : 6789139687
Option 31D : 6789139688
Option 4 ID : 6789139685
Status : Answered
Chosen Option: 2
Q.1
s IF0 TOUEd LED (FR N ©hd N T F4
Ans x 1. 80 o
X 2750
3 90°
X4 110°
Question ID : 6789132424
Option 11D : 6789139694
Option 2 ID : 6789139695
Option 31D : 6789139693
Option 4 ID : 6789139696
Status : Answered
Chosen Option: 3
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Question ID : 6789132434
Option 11D : 6789139736
Option 2 ID : 6789139735
Option 31D : 6789139733
Option 4 ID : 6789139734
Status : Answered
Chosen Option : 2
@2 The basic unit of classification of living organisms is
Ans 3 1. kingdom
5 2. genus
W 3 species
/< 4 family
Question ID : 6789132476
Option 11D : 6789139904
Option 2 ID : 6789139901
Option 3 ID : 6789139903
Option 4 ID : 6789139902
Status : Answered
Chosen Option: 3
Q2 I each carbon atom is bonded to three other carbon atoms in the same plane giving a hexagonal array.
1
Ans X 1. diamond
< 2 benzene
« 3. graphite
/< 4. propene
Question ID : 6789132472
Option 11D : 6789139885
Option 2 ID : 6789139887
Option 3 1D : 6789139886
Option 4 ID : 6789139888
Status : Answered
Chosen Option : 3




% 9% pumitte g3 oA ffy e
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Ans 1T
X2p
Vs
XL

Question ID : 6789132436
Option 11D : 6789139744
Option 2 ID : 6789139743
Option 31D : 6789139742
Option 4 ID : 6789139741
Status : Answered
Chosen Option : 3

Y fefifie queEite 97 1@ @@ [edt SNE o by @
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X3D
X 4B

Question ID : 6789132449
Option 11D : 6789139793
Option 2 ID : 6789139795
Option 31D : 6789139796
Option 4 ID : 6789139794
Status : Answered
Chosen Option : 3

Q.2 The clock in hand is showing 9 : 00 am. If the minutes hand points towards North direction, then in which direction the
4 hours hand points out?

Ans - X' 1. North




1’ 2. West

< 3. East
X 4 South
Question ID : 6789132454
Option 11D : 6789139815
Option 2 1D : 6789139814
Option 31D : 6789139813
Option 4 ID : 6789139816
Status : Answered
Chosen Option : 2
Q2 48 = =¥ 2706 TS 30 O T FA@ MEE 6 T IS FAE W, 12 S IO (UG HE AT
5 afy oAl SEE FSGE FONE N FAE?
Ans X1, 30
V2 32
X3 28
X 4 34
Question ID : 6789132415
Option 11D : 6789139658
Option 2 ID : 6789139659
Option 31D : 6789139657
Option 4 ID : 6789139660
Status : Answered
Chosen Option: 2
Q.2
o [EEfEAS TAEEeT eET FEe:
(496 +54)% —(496 —5 4)2
2496 x54)
Ans o 1 2
X2 -2
X3 —1
X4
Question ID : 6789132403
Option 11D : 6789139610
Option 2 1D : 6789139611
Option 31D : 6789139612
Option 4 ID : 6789139609
Status : Answered
Chosen Option : 1
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Question ID : 6789132433
Option 11D : 6789139730
Option 2 ID : 6789139731
Option 31D : 6789139732
Option 4 ID : 6789139729
Status : Answered
Chosen Option : 4

Q.2 Name the anti-hunger activist who won the Queen’s Young Leaders Award for 2017 at a ceremony in Buckingham
8 palace.

Ans 3 1. Tanmanjeet Singh Dhesi
/< 2. Palbinder Kaur Shergill

/< 3. Srinivas Gokulnath
4 Ankit Kawatra

Question ID : 6789132487
Option 1 ID : 6789139948
Option 2 ID : 6789139947
Option 31D : 6789139946
Option 4 ID : 6789139945
Status : Not Answered
Chosen Option : --
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Question ID : 6789132482
Option 11D : 6789139926
Option 2 ID : 6789139928
Option 31D : 6789139927
Option 4 ID : 6789139925
Status : Answered
Chosen Option : 2

Q.3
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

6789132431
6789139722
6789139724
6789139723
6789139721
Answered

2

@3 Radioactive elements are placed in

Ans  of 1. Actinoides
& 2. Period 6

/< 3. Period 7

/< 4 Lanthanoides

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

6789132475
6789139898
6789139899
6789139900
6789139897
Answered

1

°é3 Find the mode of the data set:

25,45, 58, 87, 45, 54, 65, 12, 25, 59, 42, 60
Ans X 1. 25

v 2 45,25

X 3 45

/K 4 45 54

Question ID : 6789132421
Option 11D : 6789139682
Option 2 ID : 6789139683




Option 31D : 6789139681
Option 4 ID : 6789139684
Status : Answered
Chosen Option : 4
Q.3 fEfife @@= ¥ome @it 8 fbm™a 2017 ©IfFW 2014-15 473 2015-16 N TUFH S ‘(F°6
3 mwfit 3Gy foa s aa aumwal 3% Rt @37
Ans
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X2 | e (@9
X s figs e (9
v o BT BB PGS
Question ID : 6789132500
Option 11D : 6789139998
Option 21D : 67891310000
Option 31D : 6789139999
Option 4 1D : 6789139997

Status : Answered

Chosen Option :

1

043 15 fges TEsfE &6 = 16 m, 12 m 2% 20 m| aftx Ffew TEE W I Swele BT T

Ans X1.9.8m
V2 96m
X392m
X 494m
Question ID : 6789132418
Option 11D : 6789139672
Option 21D : 6789139671
Option 31D : 6789139669
Option 4 ID : 6789139670
Status : Answered
Chosen Option : 2
Q.3 What will an amount of 3000 become after 2 years when the interest is compounded annually at the rate of 12% per
5 annum approximately?
Ans of 1 F 3763
X 2. F 3766
X 3 F3773
< 4 F 3873
Question ID : 6789132411
Option 11D : 6789139642
Option 21D : 6789139641
Option 31D : 6789139643
Option 4 ID : 6789139644
Status : Answered

Chosen Option: 1




6 2014

Satin

___—Linen

|

If the total fabric produced is 1. 50, 000 tons in the year 2014,

how much fabric of Woolen (in tons) was produced in 20147

Ans  of 1. 22500

Q.3 The following pie diagram shows information about different types of the cloth material produced in company XYZ in

< 2. 60,000
< 3. 15000
X 4. 7500
Question ID : 6789132441
Option 11D : 6789139763
Option 2 ID : 6789139764
Option 31D : 6789139762
Option 4 1D : 6789139761
Status : Answered
Chosen Option : 1
°§3 M2, 24 J9% 48 A4 <.HLY. 20
Ans x 1. 8
X 2 224
W 3 336
X 4 240
Question ID : 6789132402
Option 11D : 6789139608
Option 2 ID : 6789139605
Option 31D : 6789139606
Option 4 ID : 6789139607
Status : Answered

Chosen Option : 3
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Question ID : 6789132427
Option 11D : 6789139706




Option 2 ID : 6789139707
Option 31D : 6789139705
Option 4 ID : 6789139708
Status : Answered
Chosen Option : 2
Q§3 The maximum mumber of bonds between two atoms of covalent bond can be
Ans of 1.3
X 21
X34
X 42
Question ID : 6789132473
Option 11D : 6789139891
Option 2 ID : 6789139889
Option 31D : 6789139892
Option 4 ID : 6789139890
Status : Answered
Chosen Option: 1
Q.4
o foE med forn Fesf I =m=?
Ans x 1. 3
V25
K36
X4 4
Question ID : 6789132450
Option 11D : 6789139797
Option 2 ID : 6789139799
Option 3 ID : 6789139800
Option 4 ID : 6789139798
Status : Answered
Chosen Option : 2
@4 Where is the Cape of Good Hope situated?
Ans  of 1. South Africa
/< 2. Argentina
/< 3. Germany
/< 4 Russia
Question ID : 6789132497
Option 11D : 6789139986
Option 2 1D : 6789139985
Option 31D : 6789139988
Option 41D : 6789139987




Status : Not Answered

Chosen Option : --
Q.4 The rise of Jainism and Buddhism saw religious unrest in India in the century BC.
2
Ans 1. fourth
& 2. seventh
X 3. fifth
v 4 sixth

Question ID : 6789132495
Option 11D : 6789139977
Option 2 ID : 6789139980
Option 31D : 6789139978
Option 4 ID : 6789139979
Status : Not Answered
Chosen Option : --
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Question ID : 6789132429
Option 11D : 6789139716
Option 21D : 6789139714
Option 31D : 6789139713
Option 4 ID : 6789139715
Status : Answered
Chosen Option: 1
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Question ID : 6789132435
Option 11D : 6789139739
Option 2 ID : 6789139738
Option 31D : 6789139737
Option 4 ID : 6789139740
Status : Answered
Chosen Option : 3
Q.4 In order to maintain the current in a given electric circuit, the cell has to spend the energy stored in it.
5
Ans  of 1. chemical
/< 2. potential
X 3 electrical
X 4 Kinetic
Question ID : 6789132465
Option 11D : 6789139859
Option 2 ID : 6789139858
Option 3 ID : 6789139860
Option 4 ID : 6789139857
Status : Answered
Chosen Option : 1
Q.4 a3ft v Eies AT I BOOK (F DOQM f30TE (7T T4, BIF@ PEN (F 93 W@ (& BT (747
6 a9
Ans X 1. PLN
X 2. PAN
< 3. MNP
v 4 RGP
Question ID : 6789132426
Option 11D : 6789139702
Option 2 1D : 6789139704
Option 31D : 6789139701
Option 4 ID : 6789139703
Status : Answered

Chosen Option : 4

7 organism?

Ans 1. Fertilization
/< 2. Regeneration

« 3. Cloning
/< 4 In vitro fertilization

Q.4 Which of the following process involves the production of an exact copy of a cell, any other living part, or a complete

Question ID : 6789132479
Option 11D : 6789139916




Option 2 ID : 6789139915
Option 31D : 6789139914
Option 4 ID : 6789139913
Status : Answered
Chosen Option : 3

Q.4 : :
o is probably the largest group of animals.

Ans X 1. Annelida
# 2. Echinodermata
/< 3. Mollusca
« 4 Arthropoda

Question ID : 6789132477
Option 11D : 6789139905
Option 2 ID : 6789139908
Option 31D : 6789139907
Option 4 ID : 6789139906
Status : Answered
Chosen Option : 4

Q.4 i it 1' 3 i
o Theuniversal law of gravitation applies to
Ans 5 1. the sun and the planets

/< 2. the earth and the sun
/< 3. the earth and the moon
« 4 any pair of bodies

Question ID : 6789132457
Option 11D : 6789139826
Option 2 ID : 6789139828
Option 3 ID : 6789139825
Option 4 ID : 6789139827
Status : Answered
Chosen Option : 4

S RFERfeR TRET TeTw 38 (@7
Ans 1. BT (TR

2 FFgHel BeBH
3 Py T
4 e a9 fFmmEe

Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.

Question ID : 6789132489
Option 1 ID : 6789139955
Option 2 ID : 6789139953
Option 31D : 6789139954
Option 4 ID : 6789139956
Status : Answered




l Chosen Option : 3
U To e TSR AWE AT AR ST T TG 52
A
" X srey P &9
v 2 sET e =9
X3 ogH frz @9
X 4 o9F PRz 49
Question ID : 6789132490
Option 11D : 6789139957
Option 2 ID : 6789139958
Option 31D : 6789139960
Option 4 ID : 6789139959
Status : Not Answered

Chosen Option :

Y aafe Rrrredl v R Raa wan frefife GfRe @ w

@FE S o F9 T241F 92 Qi FEm?

AH fafFe 2wa
AT
EIGRIE] 2,000
wEATEt 1,500
Bl 2,500
afger 3,000
& 2,000
3= 1,000
TR 1,500
;ASTH 2,000
639 5,000
EET 2,000
EICEE| 150
IEIGEE] 6,000
Ans {1_ GIEEE]
X 2 (maIE
X3 9d

Xae™




Question ID : 6789132440
Option 11D : 6789139760
Option 2 ID : 6789139758
Option 31D : 6789139757
Option 4 ID : 6789139759
Status : Answered
Chosen Option : 1
U 2017 SR oIS FEmEsTer GAEE @@ At S e s T FE?
Ans
X 1. BEeI STerd FE
v 2 BFed Sele] 7 B
X3 Zﬂgﬁ Selel i
X 4y awhr =i
Question ID : 6789132492
Option 11D : 6789139967
Option 2 ID : 6789139965
Option 31D : 6789139968
Option 4 ID : 6789139966
Status : Answered

Chosen Option: 2
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Question ID : 6789132466
Option 11D : 6789139863
Option 2 ID : 6789139864
Option 31D : 6789139861
Option 4 ID : 6789139862
Status : Answered
Chosen Option : 3
QS5 Ifi ¢ 9F M TW +, # 9T @ W -, @ IF W@ TW x AR x IF WA T =, BT 24$3@B#45%5
5 a7 99 e w@?
Ans X137
X 2 43
v 3 39
X 4 40
Question ID : 6789132438
Option 11D : 6789139751
Option 2 ID : 6789139752
Option 3 1D : 6789139749
Option 4 ID : 6789139750




Status : Answered

Chosen Option : 3
@5 Which is the largest lake in South America?
Ans 1. Lake Valencia
/< 2. Lake Poopo
« 3 Lake Titicaca
X 4 Lake Junin
Question ID : 6789132496
Option 11D : 6789139983
Option 2 ID : 6789139982
Option 31D : 6789139981
Option 4 ID : 6789139984
Status : Answered
Chosen Option: 3
Q.5
VARCEICIG! b oEma
A B C D
Ans x R
X2 A
X 3D
v B
Question ID : 6789132444
Option 11D : 6789139775
Option 2 ID : 6789139773
Option 31D : 6789139776
Option 4 ID : 6789139774
Status : Answered
Chosen Option: 3
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

6789132428
6789139711
6789139710
6789139709
6789139712
Answered

4

Qés 36 TeANe fAea-aen A% AR TR fed @ fim, s$aia @m:

Ans o 1 FTGE
v 2 9%% Y
X 3 T T ATE
X4 BAE
Question ID : 6789132463
Option 11D : 6789139849
Option 2 ID : 6789139851
Option 31D : 6789139852
Option 4 ID : 6789139850
Status : Answered
Chosen Option : 2
Q¢ Name the person awarded with the *Yeraringan Award”.
Ans 1. § M Swaminathan
& 2. 8.V, Swaminathan
X 3. V.S. Swaminathan
' 4 MLS. Swaminathan
Question ID : 6789132488
Option 11D : 6789139950
Option 2 ID : 6789139952
Option 3 ID : 6789139951
Option 4 ID : 6789139949
Status : Answered
Chosen Option : 4

%6 Choose the mirror image for the following figure.

M

A B C D

2

Ans x-]_ B
v2 A




X3 cC

X4D
Question ID : 6789132455
Option 11D : 6789139818
Option 2 ID : 6789139817
Option 31D : 6789139819
Option 4 ID : 6789139820
Status : Answered
Chosen Option : 2
Q.6 — — "
> EERCSTE MENEEE WAy FaEde ofEEE wen sads:
Ans X 1. 57-70
X 2.90-103
X 3 89-102
W 4 58-71
Question ID : 6789132474
Option 11D : 6789139893
Option 2 ID : 6789139896
Option 3 ID : 6789139894
Option 4 ID : 6789139895
Status : Answered
Chosen Option : 3
Q.6
5 [F0F 200 @T-THeE T SEeld (79 Fo a99d 3@ odrse?
Ans 1 g
2.3
3.
4. 1
Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.
Question ID : 6789132499
Option 1 ID : 6789139994
Option 2 ID : 6789139995
Option 31D : 6789139996
Option 4 ID : 6789139993
Status : Answered
Chosen Option: 2

4 e

Ans X 1. 15.835 < x < 15.845
/< 2 15835 < x < 15.845
V5 15835 < x < 15.845
X 4 15835 < x < 15.845

Q.6 436 wam x -a7 T T I AT S W9 15.84 RUE weW | Fafifie fafssfm ww @A

Question ID : 6789132407
Option 11D : 6789139626




Option 2 ID : 6789139628
Option 31D : 6789139627
Option 4 ID : 6789139625
Status : Answered
Chosen Option : 4
Q.6 Which of the following statements is/are true?
5 A, Compressibility: It is the property of matter to maintain its shape even if external forces work on it and solids
show this property.
B. Fluidity: It is the property of a substance to easily flow and allow change in its shape under external forces and
this property is exhibited both by liquids and gasses.
Ans o 1. Only B is true
/< 2. A and B are both false
& 3. A and B are both true
/< 4 Only A is true
Question ID : 6789132469
Option 1 ID : 6789139874
Option 2 ID : 6789139876
Option 31D : 6789139875
Option 4 ID : 6789139873
Status : Answered
Chosen Option : 3
Q.6
¢ (@NEN (WE FEfAe @F @EE AE 57
Ans «
1. BT
X 2 feF=nfe
X 3. EEEEEs
X4 @B G
Question ID : 6789132483
Option 11D : 6789139930
Option 2 ID : 6789139931
Option 31D : 6789139929
Option 4 ID : 6789139932
Status : Not Answered
Chosen Option : --
Qf fPraffens MET e Raea-Hiten ($@ 2018 NEH TSI TFSE A0 FA TERT?
Ans 1. SEn SNAG[H
' 2wy e
X 3. IRl sref
X 4 SEETE
Question ID : 6789132485
Option 11D : 6789139940
Option 2 ID : 6789139937
Option 31D : 6789139939




Option 4 ID : 6789139938
Status : Not Answered
Chosen Option : --

Qé" Choose the ODD one:

(a)

(b)

(d)

”|||

Question ID : 6789132446
Option 11D : 6789139782
Option 2 ID : 6789139783
Option 31D : 6789139784
Option 4 ID : 6789139781
Status : Answered
Chosen Option : 4

W @ET e sE

A

Ans X-L D

X2cC
V3 B
X4 A

B

Question ID : 6789132447
Option 11D : 6789139788
Option 2 ID : 6789139787
Option 31D : 6789139786
Option 4 ID : 6789139785
Status : Answered
Chosen Option: 3

Q.7




question.
Question:
X is taller than Y and Z is shorter than W, who is the shortest?
Statements:
1. Z is shorter than X

2. W is shorter than Y

Ans 1. Both 1 and 2 together are sufficient

/< 3. Either 1 or 2 alone is sufficient

' 2. 2 alone is sufficient while 1 alone is not sufficient

/< 4.1 alone is sufficient while 2 alone is not sufficient

You are given a question and two statements. Identify which of the statements is/are necessary/sufficient to answer the

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
: Not Attempted and Marked For Review
Chosen Option :

Status

6789132442
6789139768
6789139766
6789139767
6789139765

1 together, how long (in hours) will it take to fill up the tank?

Ans ?(1. 30
X 2 50
v 3 40
X420

Q.7 A tank has two taps. One fills the tank in 8§ hours and the other empties it in 10 hours. If both the taps are opened

Question ID : 6789132416
Option 11D : 6789139662
Option 2 ID : 6789139664
Option 31D : 6789139663
Option 41D : 6789139661
Status : Answered

Chosen Option : 3

Y faffe e SEe et T

395 — 39,5 — 3,95 — 0.395 =_ .
Ans of 1. 351,155
# 2 351,055
X 3 351,045
< 4 351,145

Question ID : 6789132405
Option 11D : 6789139617
Option 21D : 6789139618
Option 31D : 6789139619
Option 4 ID : 6789139620
Status : Answered

Chosen Option : 2




Ans

7< 1. At a long distance

+ 2 During given time interval

/< 3. At a shorter distance

/< 4. At a particular instance of time

Q.7 N b 3 3 & I
5 Average speed and average velocity explain the motion of a body:

Question ID : 6789132458
Option 1 ID : 6789139831
Option 2 ID : 6789139830
Option 31D : 6789139832
Option 4 ID : 6789139829
Status : Answered
Chosen Option : 4
Q.7
s ETel TR (STLEAEL: FIE0) AEEE FE:
e o1 R @
X2 @Tl?'Fﬂf; CIECEAEG]
X3 B afes
X4 IR foea
Question ID : 6789132467
Option 11D : 6789139866
Option 2 ID : 6789139868
Option 31D : 6789139865
Option 4 ID : 6789139867
Status : Answered
Chosen Option : 3
Q.7 A group of children are playing a word game. In the game they were given a word ‘CORPORATION’ which needs to be
5 re-arranged so that the vowels are always together. Find out in how many ways can the word be re-arranged.
Ans X 1. 1540
X 2. 8905
X 3. 2086
v 450400
Question ID : 6789132439
Option 11D : 6789139754
Option 2 ID : 6789139753
Option 31D : 6789139755
Option 4 ID : 6789139756
Status : Answered
Chosen Option : 4
Q.7




ferErma o se off fage M= ?

Vi

Ans of 119
X217
X 3 21
X 420

Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status

Question ID :
: 6789139807
: 6789139808
: 6789139806
: 6789139805
: Answered

Chosen Option :

6789132452

1

Q.7 Sudha is twice as old as Radha. If 6 years is subtracted from Radha’s age and 4 years is added to Sudha’s age, then
7 sudha will be four times as old as Radha. Two vears ago Sudha and Radha were:

Ans 1. 30 years and 16 years
< 2. 34 years and 20 years
W 3. 26 vears and 12 years
/< 4 30 years and 14 years

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

6789132419
6789139676
6789139675
6789139673
6789139674
Answered

3

% 519841 a7 Th[T &2

Ans X 1. 731
v 2 721
X 3 629
X 4 631

Question ID : 6789132406
Option 11D : 6789139621




Option 2 ID : 6789139623
Option 31D : 6789139622
Option 4 ID : 6789139624
Status : Answered
Chosen Option: 2
Q7 foaft earer ol 61 ssfm wes 9afe 13, aw o qfer oepTe 9 : 101 feefeR Wy qrew e
9 w7
Ans i
X12-
2
; 1
X222
&4
1
Vs 2=
2
. 3
X422
4
Question ID : 6789132408
Option 11D : 6789139631
Option 2 ID : 6789139632
Option 3 ID : 6789139629
Option 4 ID : 6789139630
Status : Not Answered
Chosen Option : --
Q.8
o (EEEG @5 S
\.\‘.._\- I .‘I‘ i : i
™y k 3 R : : "§'"
A B C D
Ans of 1. D
X2cC
X3 B
X4 A
Question ID : 6789132448
Option 11D : 6789139792
Option 2 ID : 6789139791
Option 31D : 6789139790
Option 4 ID : 6789139789
Status : Answered
Chosen Option : 1
Q.8 azfe fy Ty ANF ¥F (0@ AE ME TF 0.55 TH| HEF @FSA IF T g=10ms2 | P (F Of
1 e wafs Fe5 Svo F@w?
Ans X1 1.5m
V2 125m
K3 1lm
X4a2m
Question ID : 6789132459




Option 11D : 6789139835
Option 2 ID : 6789139834
Option 31D : 6789139836
Option 4 ID : 6789139833
Status : Answered
Chosen Option: 2
Qés fiw SEfe @@ ofF, A6 THies A6 RoE ofofe THieend T&f ST’
Ans x
1. HgEm
2 SIETES
< 3. SIERET
X 4 Fifem
Question ID : 6789132486
Option 1 ID : 6789139944
Option 2 ID : 6789139941
Option 3 ID : 6789139942
Option 4 ID : 6789139943
Status : Not Answered
Chosen Option : --
Qés a3 7% 99 (TE FwEE SmeT AFGAm SFhA BN 5 FA oW, e F4 o |
Ans x 1. ﬁ g
X2 3@ 5
v 3 @ B
X o SRRl FA (TRPWES TIEk)
Question ID : 6789132498
Option 11D : 6789139990
Option 2 ID : 6789139991
Option 31D : 6789139992
Option 4 ID : 6789139989
Status : Not Answered
Chosen Option : --
Qf _ HIEFF SHETDE 2011 HEN3 GiE2id 41 JEF1
Ans X 1. 2008
X 2. 2004
v 3 2005
X 4 2009
Question ID : 6789132420
Option 11D : 6789139677
Option 2 ID : 6789139679
Option 31D : 6789139680
Option 4 ID : 6789139678
Status : Answered
Chosen Option : 3




U 1f 93fs A figew = T 19 om W, SEE oA (wawT F9?

Ans X 1.177.87 cm?
X 2 167.76 cm?
X 3134,87 cm?

4 156.31 cm?

Question ID : 6789132425
Option 11D : 6789139700
Option 2 ID : 6789139699
Option 31D : 6789139697
Option 4 ID : 6789139698
Status : Answered
Chosen Option : 4

Qés Choose the best suitable venn diagram for +ve following words “Wool, sweater, cap”

Ans

Question ID : 6789132451
Option 11D : 6789139801
Option 2 ID : 6789139802
Option 3 ID : 6789139803
Option 4 1D : 6789139804
Status : Answered
Chosen Option : 2

08 (—4){20: (-2) x (-8)} = ?
ans of 1. — 5
X220
X3 40




Question ID : 6789132401
Option 11D : 6789139602
Option 2 ID : 6789139603
Option 31D : 6789139601
Option 4 ID : 6789139604
Status : Answered
Chosen Option : 1
Qé8 Fea a7 8 sl TgF am BT sFw s Sor meTE s @W fgfesE ImE)
o
EFGH IR | 15 Wiie wiew ol FEfem e o srEmt afn smE &S (@ Sofa el
ST WA Wi FA1, ORE ([Gel A (F Wong ©f ey F@e
fagfs:
.G ST =
2.E 79 F 49 (& 940
3.H 27 3%E ¥E9F (WF W
4.F 3 | 97 (U@ 4T
Ans
X Fgfe 1 8 3 IR
X2 [49fe 1,2,3 9912 TE
X3 @F fagfed TE® =3
v fagfe 1,2,3 8 4 aFIY TEE
Question ID : 6789132443
Option 11D : 6789139769
Option 21D : 6789139771
Option 31D : 6789139772
Option 41D : 6789139770
Status : Answered
Chosen Option : 4
Q.8 5 & F420 (v f&fF s@ e 6 @ 5%l %380 (w 4 FfF Ta@ o7 Teosa Fo @@
(AFT 7w ?
Ans o 1 (FTIPH =5%
X 2 (FFHE =10%
X3 A% =5%
X 4 @8 =10%
Question ID : 6789132409
Option 11D : 6789139636
Option 21D : 6789139633
Option 31D : 6789139634
Option 41D : 6789139635
Status : Answered
Chosen Option : 1

Q.9 sy ==7 5% IE Ae @, IF6 SEANGd WEERAN 2018 WE 54000 TF TM| 97 SeEwhed 2 ==A
0 spm owpramfs fifr s

Ans - X 1. 49500




< 2. 50000

< 345980
o 4 48980
Question ID : 6789132412
Option 11D : 6789139648
Option 2 ID : 6789139645
Option 31D : 6789139646
Option 4 ID : 6789139647
Status : Answered
Chosen Option : 4
°1'9 Mammals have:
Ans  of 1. four-chambered heart
/< 2. three-chambered heart
/< 3. one-chambered heart
/X 4 two-chambered heart
Question ID : 6789132478
Option 1 1D : 6789139911
Option 2 ID : 6789139909
Option 3 ID : 6789139912
Option 4 ID : 6789139910
Status : Answered
Chosen Option : 1
Q9 afi A:B=5:849% B:C=-18: 25 %, SR A : C ¥ w=m|
Ans X'1.8 . §
X25:8
X320:9
29 20
Question ID : 6789132410
Option 1 1D : 6789139639
Option 2 ID : 6789139640
Option 3 ID : 6789139637
Option 4 ID : 6789139638
Status : Answered

Chosen Option : 4

Y wBF e @@ Wed @ @RHE T
Ans 51 S =G

v 2 FiFe wEr

X 3. TR qEl

X 4 (ST WTe]

Question ID : 6789132480




Option 11D : 6789139917
Option 21D : 6789139918
Option 31D : 6789139920
Option 4 ID : 6789139919
Status : Answered
Chosen Option: 2
.9
W 1y RE oW IRfeS (@ @@ Sex foaflt (off FAT (@ AMA?
HE al@f!\&:
0
A\
@'@;ﬁ G{IQSI\!):
A ]
Ans 1. A
2.D
3. C
4. B
Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.
Question ID : 6789132453
Option 11D : 6789139809
Option 2 1D : 6789139812
Option 31D : 6789139811
Option 4 1D : 6789139810
Status : Answered
Chosen Option : 4
Q.9 Select the option that is related to the third word on the same basis as the second word is related to the first word.
Smell : Rose : :Wisdom :
Ans X 1. Information
/< 2. Wealth
/< 3. Reading
« 4 Experience
Question ID : 6789132430
Option 11D : 6789139720
Option 2 1D : 6789139719
Option 31D : 6789139717
Option 4 1D : 6789139718
Status : Answered
Chosen Option : 2

Q.9 3 =5m o Tob Y ASTAFE, TF 4, TOH SF (NF 6km @ T Mo FE 5 TOR T 60T
AT SNemN 36, WF6TA ©F (AF 5km FH AT Aemd FE| IEA kv/he RIE ST sTeEs w67

Ans x-]_ 0




X211

V3 10
X412
Question ID : 6789132414
Option 11D : 6789139653
Option 2 ID : 6789139655
Option 31D : 6789139654
Option 4 ID : 6789139656
Status : Not Answered
Chosen Option : --
Q.9 A bullet, of mass 40 g, is horizontally fired with a velocity 160 ms™ from a pistol of mass 2 kg. What is the recoil
7 velocity of the pistol?
Ans1. _1.25ms™?
2 —3.0ms™?
3 —1.5ms™?
4 —2.0ms™?
Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.
Question ID : 6789132456
Option 11D : 6789139824
Option 2 ID : 6789139822
Option 3 1D : 6789139821
Option 4 ID : 6789139823
Status : Answered
Chosen Option : 3
Q.9
8 1 I
1 1 i
IEHREIRHE ' ]
1 | L
Find the missing figure in the above sequence.
I 1
i 1
[E1l{a% @ |||[=
-—— l !
A B D
Ans o 1 D
X2 B
X3 C
X4 A
Question ID : 6789132445
Option 11D : 6789139780
Option 2 1D : 6789139778
Option 31D : 6789139779
Option 4 ID : 6789139777
Status : Answered




Chosen Option :

1

Ans X 1. CaCly

%° The chemical formula of quick lime is :

/X 2. CaCO3
v 3 Ca0o
/< 4. CaSOy
Question ID : 6789132471
Option 11D : 6789139882
Option 2 ID : 6789139884
Option 31D : 6789139883
Option 4 ID : 6789139881
Status : Answered
Chosen Option : 2
Q.1 While white washing, Ca(OH); reacts slowly with the in the air to form a thin layer of CaCOjz on the walls.
00
A ;
s X1 SO,
X2 Co
X3 O
v COy
Question ID : 6789132470
Option 11D : 6789139880
Option 2 ID : 6789139879
Option 31D : 6789139877
Option 4 ID : 6789139878
Status : Answered
Chosen Option : 4




